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(—) SHM and Wave (#£254)

The oscillations of a thin rod can be used to determine the value of the acceleration due

to gravity. A m kg rod that is L m long and suspended from one end is observed to

complete foscillations in T's. (a) What is the value of g at the location of this experiment?
(1547) (b) What is the velocity for wave propagation along this rod? (104-)

(=) Newton Gravitation (£ 25 4)
—~ ABHEEEhm > UBRAMRELBHET - R T CREMNERER HboRE
WREBEASR - B Z T EAM B ATRAGC MK (DA E AL RILRERZ S

feth (52); QA A# o REPRERIHEL (109); OB EARECRAFZRHNE
dh R EE (104)

(=) Rotation and conservation of energy (3 25 4-)
A solid cylindrical object of inertia m, rotational inertia I, and radius R rolls down a ramp that makes an
angle & with the horizontal. By how much does the cylinder’s energy change for the (a) potential enery

(5 4); (b) translation kinetic energy (10 4+); and (c) rotational kinetic energy (10 %), ifit is released
from rest and its center of mass drops a vertical distance A7

(v3) Friction force (3 25 4-)
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